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1st year PARTICULARS OF RECRUTM ENT RESERVATIO
cyde /PROMOTION MODE N CARRIED
is no FORWARD
of Te UR or Name and date of Whether SC ST Singature Remarks Date of
pos Resere | appointment/ heis appointing Replacement Retired/
ved for | promotion SC/ST if authority whom promotion
SC/ST not, say persion
accord neither
ing to
the
roster
aplica
ble
1 2 3 4 5 6 7 8 9 10
1. 1973 UR ®d aN 1999-2000
2001—02 7eH Al 9 31-07-2006
2006—07 IHY Rig 31.03.2007
2007—08 STAYBTET HIGR 31-03-2012
2012—13 EUSE w
2 1973 UR ARD. DD 31-03-1999
1999—2000 EURINGIERSI) 2010-11
2010—11 TR (31,51 31.12.2020
3 1975 UR ST.TE. 33 1999-2000
2000—01 UENEREION 31-01-2009
2008—09 fQeeT Phewdrr 30-09-2014
2014—15 ST 9 UhTIT 28-02-2017
AT
2016—17 NSRS 31-01-2020
Ai=fy
4. 1975 UR ERINEG 1999-2000
2000—01 NERER 31-07-2006
2006—07 TN H 31-05-2009
2009—10 FRARRIV AR 30-09-2013
2013—14 RISTHAR v 4. 17.12.2020
5. 1977 UR LU, STRIT 2002-2003
2002—03 ROTHRYI 31-03-2007
2007—08 AT 31-07-2008
2008—09 AT BHAR pro. 2016-17
2016—17 3THUBTT w

Drilling Supervisor DPC R oster




2 3 2 9 10

6. 1975 UR STHad Rig 2002-2003
2002—03 TgRiE 31-12-2009
2009—10 DHARTIR IAT 31-03-2015
2015—16 foor= g 30-06-2016
2016—17 TR g 31-08-2020

7. 1976 sc-1 | Siemr eTH 2000-2001
2000—01 JYRT YA pro. 2015-16

(31.91)
2015—16 ESINERCAST w

8. 1976 UR ESERGH 2000-2001
2000—01 TR gAT 01-04-2009
2009—10 ERNEER pro. 2016-17
2016—17 NESECIEEI w

9. 1975 ST-1 | @IRAT 2000-2001
2000—01 ey Rig 30-04-2009
2009—10 iR= g 01-11-13
2015—16 QU o aHl w

(315151.)

10. 1975 UR | ¥R RiE 2000-2001
2000—01 AT N8 01-10-2003
2003—04 Wl el 31-05-2009
2009—10 P AT 31-07-2013
2013—14 To_H 2R 31.07.2020

11. UR AEd o 31-03-1999
1999—2000 i I 31-07-2000
2008—09 FREE A 30-06-2008
2016—17 Jfd= a1 g 01 Red ag 31-07-2017

201516 I FITT
‘DY gl A
2017—18 AR fIears 31-08-2020

12. UR SRR DN 2001-2002
2001—02 MRRTE 31-08-2008
2008—09 s RiE 31-03-2009

KIEI
2009—10 R TG AR pro. 2016-17
2016—17 SIIa= 19E w

13. 1977 sc-2 | o= E 2001-2002
2001—02 RIGERSSISEl ¥ 31-10-03
2003—04 faeraR™ IR 30-09-2010
2010—11 eNDhH N8 31-07-2011
2012—13 Nad g 31-08-2016
2016—17 IR AT w
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2 3 4 10

14. 1977 UR SI= g U8t 2001-2002
2001—02 W= Rig ©.01-05-05
2005—06 SEGRSE 28-02-2009
2008—09 hI ¥g 31-05-2010
2010—11 WhATA 30-04-2015
2015—16 ¥R g w

15. 1978 UR TaRTH 31-01-2002
2003—04 ATE et 2802-2009

Il
2008—09 AN E 31-08-2013
2013—14 fawy < e 4.22-01-15
2014—15 TR g AT f.11.05.2021

16. 1978 UR IR N8 2000-2001
2000—01 99T RiE 31-08-2008
2008—09 oI} RiE pro. 2016-17
2016—17 AT ARKY w

17. 1979—80 sT-2 | o= NE 2003-2004
2003—04 ARTIORI 8 31-01-2010

AT (31.S15T)
2015—16 o g w
AT (31.31.57.)

18. 1981—82 UR Tl I°w IR 2001-2002
2001—02 GIRGEEIESD #.3110-03
2003—04 Pragar R 31-01-2008
2007—08 AT AERT 31-10-2010
2010—11 TARTH 31.08.2018
2018—19 BTRTH 81 w

19. 1981—82 SC-3 | RIaSTdHAR 2003-2004
2003—04 BRI qusdl 30-09-2008
2008—09 o9 I 9TH 31:08-2011
2011—12 IFHT HAR 31-07-2016

raqQ
2016—17 AATA w

20. 1997—98 UR g Rig 2003-2004
2003—04 NEAT ARR 31-07-2008
2008—09 NiceiEcacd 31-03-2011

HARRR
2011—12 TR 37l w

21. 1997—98 UR 109, 31IATa 2802-1999
1999—2000 AN g 2802-2007
2006—07 TR ATA 31-10-2009

A
2009—10 SEEEESEE 31-01-2012
2012—13 NEARGI 31-07-2015
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2015—16 o= N8 31-12-2017
T
2017—18 famw ' 31-07-2020
22. 1997—98 UR ERICESE 31-03-2000
2000—01 HEGAATA TAl 31-03-2012
(3151)
2012—13 ARG (31.511) w
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